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5) If the object is placed at 40cm infront of plane mirror, what will be the
distance between object placed and image formed? [1]

(A) 40 cm
(B) 80 cm
(C©) 20 cm

(D) 60 cm

6) What is the least distance of distinct vision for a young adult with normal
vision? [1]

(A) 25m
(B) 25com
(€ 25¢cm

(D) 25 m

Fill in the blanks with correct answer :-
7) is used as a catalyst in the hydrogenation of vegetable oils.[1]

(Nickel, Calcium, Carbon)

8) The element has the electronic configuration 2,8,2. [1]

(Aluminium, Magnesium, Sodium)

XDR75 3 11 (E) (P.T.0.)




9) R, =2Q R, =2Q
et A AAAAA s AMAN b3y
N Y

(A b o7

—\A/+ +I||'— 8 7

is the equivalent resistance in the above diagram.
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10) In somatic cells of human being, the chromosomes are found in
pairs.

(22, 23, 46)

11) mirror is used in the head lights of a car.

(Concave, Convex, Plane)

12) The device used for producing electric current is called

(generator, ammeter, motor)

State if following statements are true or false.

13) Tooth decay starts when pH of the mouth is lower than 5.5.

14) The outermost shell of noble gases have 7 electrons.
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